
For help with installation, call 360-260-CORK (2675)

3
1
1
-
6
-
l
x
A

www.CorkSport.com

CorkSport Downpipe
2007-2010 Mazdaspeed3

Model   Year   Trim

MazdaSpeed3 2007-2010 All
Part Number:

Axl-6-113

Tooling List:
3/8 Drive Ratchet
3/8 Drive Extensions
  Varying Length
8mm Short Socket
10mm Short Socket
12mm Long Socket
14mm Medium Socket
17mm Long Socket

Parts List:
CorkSport Power Series Downpipe for MS3
2x M10x1.25 70mm Hex Bolts
2x M10x1.25 80mm Hex Bolts
2x M10 Small Flat Washers
2x M10 Large Flat Washers
2x M10x1.25 Hex Nuts
2x 80mm Donut Gasket 

Time Estimate:
3-4 hours

Wrench Rating:
3.5/5

Flathead Screwdriver
 Square shank
 best.
Penetrating Oil
  (PB Blaster/Aerokroil)
Silicone Spray
  (WD-40)
Anti Seize Paste
Torque Wrench
Breaker bar

WARNING: Make sure vehicle is completely cooled down prior to starting 
installation.  Exhaust systems and especially catalytic converters can get hot 

enough to seriously injure you.  If you’re in a hurry, use a fan to cool off the 
exhaust system and the catalyst. 

WARNING:  Thoroughly read the precautions and instructions that come with 
your Floor Jack and Jackstands as well as your vehicle’s owners manual for 

appropriate jacking methods and jacking / support points.  Always double up 
support on a vehicle - Jack Stands and Floor Jack /etc.

NOTE:  When under the car, you should be wearing mechanics gloves or some 
sort of hand protection from cuts - the quilted aluminum heatshields on the 

Speed3 have deceptively sharp edges.

NOTE: These instructions were written for reference only and the use of a 
factory service manual is recommended. Please read these instructions 
thoroughly prior to starting installation.  These products are sold for use 

off public roads.  Any product that removes the vehicle emissions components 
(like catalytic converters) or effect functionality of vehicle emission controls 
must not be used on public roads and highways.    

 !

 ?

 ?

 !





Installation Instructions:
Corksport Short Ram Intake

for 2010+ Mazda 3
C
O
R
K
S
P
O
R
T Overview/Checklist:

This is an overview of each of the steps of the build.  You can use this as a 
reference and a checklist as you button up the work on the car.  

1a) Remove Intercooler Cover (10mm Bolts)  

1b) Remove connections / hose clamps at 4x hoses on intercooler 
and bypass valve.  

1c) Disconnect and remove 3x 12mm nuts to intercooler 
brackets, remove intercooler.    Intercooler fins fragile!

1d) Spray w/ Penetrant and remove 5x 8mm heat shield bolts from 
exhaust manifold.     Exhaust manifold hot, wear gloves.  

1e) Spray w/ Penetrant and remove upper O2 sensor, unclipping 
harness where necessary to get slack.

1f) Spray w/ Penetrant and remove 3x 10mm Upper downpipe 
heatshield bolts.
 
1g) Spray w/ Penetrant and remove 3x 8mm lower downpipe 
heatshield bolts.

2a) Spray w/ Penetrant and remove 5x 14mm downpipe nuts from 
turbo studs.  Multiple extensions and medium 14mm recommended.

2b) Remove 10mm Bolt and O2 sensor wiring loom coil from 
downpipe.  Retain for later use.

3a) Put the vehicle on jack stands and a floor jack per 
manufacturers specifications and jack points.    Redundant is 
best - use both jack stands and slight pressure on the floor 
jack.  

3b) Remove front non-load bearing crossmember 4x 14mm bolts, 
2x 14mm Nuts and 1x 10mm bolt. 

3c) Remove 8x 12mm bolts from chassis support member under 
secondary catalyst.      

3d/e/f) Remove secondary catalyst from vehicle by disconnecting 
14mm nuts/bolts and removing from exhaust hangers.   Catalyst 
Fragile!  

4a) Unplug O2 sensor connectors from harness and remove 
secondary O2 sensor.

How the Instructions Work
To best cover all of our customers experience levels and familiarity with 
the systems on their Mazda, we have broken our instructions down into 
numbered steps, each of which has the core information in the header with 
additional detail as needed depending on your experience. If you have a high 
level of experience, you can just use the checklist below and then skip to 
the step number where you need help or assistance.  Video assistance may 
also be available for certain steps and is indicated by the HD icon:    Areas 
where there is a safety concern are indicated by the warning icon:     
Cautionary areas (where parts are fragile, etc) are indicated by the caution 
icon:       Key tips are indicated with the light bulb icon:   

 !

 ?

CS

 ?

 !

 !

 ?



Installation Instructions:
Corksport Short Ram Intake

for 2010+ Mazda 3

T
R
O
P
S
K
R
O
C

Overview/Checklist (continued):  

4b) Remove two 14mm bolts connecting downpipe bracket to 
engine block.  Requires a long extension for easiest access.  
Remove downpipe from car (from the bottom).  

4c) Check turbo outlet gasket for damage.  Replace if necessary.

5a/b) Install CorkSport downpipe into underside of car, Start 
forward lower nut onto stud first and torque to 39-46 ft lb of 
torque.  Install other four nuts and tighten to 39-46 in a 
criss-cross pattern ending with lower middle bolt.  

5c)  Install small flat washers and long 10mm bolts (70mm for 
use with CorkSport Racepipe, 80mm for factory catalyst) through 
downpipe flange facing rearward.

5d)  Install lower O2 sensor and reconnect connectors to 
harness.  Use anti-seize to make removal easier next time.

5e)  Install upper O2 sensor and reconnect connectors to 
harness.  Install previously removed coil retainer to location on 
firewall and feed wire through coil.  Use anti-seize here also.

6a/b/c) Reinstall catalyst pipe using previously removed springs 
on connection to downpipe, followed with large flat washers and 
nuts (tightened to 1mm gap in springs, doubled up for locking).  
using factory fasteners at rear and reinstall hangers.

6d) Reinstall the front chassis brace (4x 14mm Head Hex Bolts, 
2x 14mm Nuts, 1x 10mm).  Torque the 14mm Bolts & Nuts to 
22-28 Lb Ft.  Tighten the 10mm hand tight (~10 Lb Ft).

6e)  Reinstall Center Chassis Brace (8x 12mm Bolts) and torque 
to 22-28 Lb Ft.

7a)   Reinstall the lower and upper exhaust manifold heat 
shields.  Apply anti-seize and torque to ~10 ft lb.

7b)   Reinstall the intercooler into the hot and cold charge 
couplers and over the mounting studs.  Tighten coupler hose 
clamps.  Install 12mm nuts over studs and tighten to ~20 Ft Lb 
of torque. 

7c)  Install recirculation valve hose and reinstall hose clamp.  
Install recirculation vaccum line and reinstall hose clamp.

7d)  Install Intercooler cover and reinstall two 10mm Hex Head 
bolts.  Tighten to hand tight.      DO NOT OVERTIGHTEN.

8a) Take vehicle down off of the jackstands per manufacturers 
recommendation and start vehicle, check for exhaust leaks.  If 
leaks are present - check to make sure donut gaskets are 
concentric with their mating flange and not overtightened.

 ?



For help with installation, call 360-260-CORK (2675)

Installation Instructions:
Corksport Power Series Downpipe

2010+ Mazdaspeed3

T
R
O
P
S
K
R
O
C

1:  Get to the Downpipe. 
Now that you've read through all of the instructions, go ahead and pop your 
hood and we'll remove all of the items necessary to get to the downpipe from 
the top side of the engine.

    The engine compartment is HOT and you must take care to protect yourself 
when working around it.  It is easier to get the bolts out of the heatshield, etc 
when the engine is still warm, but if you have been driving it hard, you should 
let it cool down prior to working on the vehicle.  Also, protect yourself with 
appropriate mechanics gloves while working around exhuast.  Burns suck.  

A. Remove the two 10mm Hex Bolts holding the 
intercooler cover to the intake manifold as shown in 
Figure 1a.  Slide the intercooler cover off the back of 
the intercooler and out of the engine compartment.
 
     The intercooler fins are made of thin aluminum and 
can be easily damaged or bent.  Use care not to lean on 
the intercooler or damage the fins.  
 
B.  Loosen the hose clamps on the inlet and outlet of 
the top mount intercooler as shown in Figure 1b, Items 

1 & 2.  The clamps are conveniently glued onto the hoses so they won't rotate, 
you just have to loosen them.  Use your 
needle nose pliers to loosen the hose 
clamps on the recirculation valve (shown in 
Figure 1b, Items 3 & 4 and pull the recirc 
hoses free of the valve.)

C. Remove three 12mm intercooler mounting 
bolts shown in 
Figure 1c.  
Pull the 
intercooler up 
off of the 
stud at the rear of the engine compartment, then 
rotate it off of the hot-charge hose at the back of 
the engine compartment.  Pull the intercooler of 
the two front studs and out of the cold-charge 
hose in the front of the engine compartment.  
Place the intercooler in a safe place where the 
fins will not be damaged.

D. Apply penetrating oil, allowing to soak for a few 
minutes and Remove all five 8mm hex head bolts from 
the upper heat shield on the exhaust manifold, marked 
with red arrows on Figure 1d.  Remove the heat shield 
from the vehicle.

E. Apply penetrating oil, allowing to soak for a few 
minutes and remove upper O2 sensor,
out of the exhaust manifold using an O2 Sensor  
wrench. Once it breaks free, respray it and turn it 
back in, then back out to allow penetrating spray to 
infiltrate all of the threads.    Make sure not to twist the wiring harness up 
when removing the sensor.  You can disconnect it at the plug if necessary, but 
there is plenty of slack to remove the sensor and avoid twisting the cable.
 
 

Figure 1b

Figure 1d

 !

 ?

Figure 1a

 ?

Figure 1c

1

1

2
3

4



For help with installation, call 360-260-CORK (2675)

Installation Instructions:
Corksport Power Series Downpipe

2010+ Mazdaspeed3

T
R
O
P
S
K
R
O
C

1:  Get to the Downpipe (continued). 

F.  Remove the three 10mm hex head bolts from the upper downpipe heatshield 
and remove the heatshield. 

G.  Remove the three 8mm hex head bolts from the lower downpipe heatshield 
and remove the heatshield.    Again, if the downpipe is still hot, you need to wear 
hand protection as these are on the underside of the pipe and require you to 
locate them by feel.

2:  Removing the Factory Downpipe (Top Side)

A.  Spray penetrating oil on the five 14mm headed nuts (Shown w/ Red Arrows in 
Figure 2A) that hold the factory downpipe to the turbocharger. Let them soak 
for several minutes then remove the nuts. They are a factory locking style nut 
so they may be difficult to remove.  This is where a medium length 14mm socket 
and a breaker bar, universal joint, 4",  6", 8" and 12" extensions come in handy.  
Various combinations of these items will get you good leverage to brake the nuts 
free and plenty of rotation on your ratchet.  

    The studs may extract from the turbocharger instead of the nuts coming off 
of the studs.  It is possible to re-use the studs w/ nuts attached, but it is 
recommended that you use at least one stud to 
re-hang the new downpipe.  Preferrably two 
studs.  If all five of your studs unthread out of 
the turbocharger, you will need Mazda Part 
Numbers L33E-13-146 and L33E-13-146A or an 
equivalent stud from a fastener or hardware 
store.  Stainless steel is highly recommended.

If all of the studs unthread from the turbine 
housing, you will want to keep one in to hold the 
downpipe while you are under the vehicle, If the 
studs remain, the downpipe will hang on the 
studs.

B.  Remove 10mm hex head bolt and O2 sensor wiring harness loom from 
downpipe shown with yellow arrow in Figure 2a.  It will be reused to secure the 
Factory O2 sensor wiring harness.  

3:  Removing factory crossmembers, Cat Pipe.

A.  Using a floor jack and jackstands, bring the front of the car up in the air 
enough to access the underside of the chassis.  Read and follow all factory 
owners manual recommendations for jacking points as well as the instructions 
for the jack and jackstand.  The vehicle should be on a hard level surface as 
well.  Asphalt does not 
count - the jackstands can 
sink into the asphalt and 
drop the car.

B.  Remove the front chassis 
crossmember by removing the 
fasteners shown in Figure 
3b: 4x 14mm bolts, 2x 14mm 
Nuts and 1x 10mm bolt 
holding brake line shield to 
the chassis.

Figure 2a

Figure 3b



For help with installation, call 360-260-CORK (2675)

Installation Instructions:
Corksport Power Series Downpipe

2010+ Mazdaspeed3

T
R
O
P
S
K
R
O
C

3:  Removing Crossmembers, Catalyst (continued)

C.  Remove 8x 12mm Bolts from center chassis support 
member shown in Figure 3c. Slide the support member 
hooks out of the floor pan and set aside.

D.  Spray Catalyst Pipe fasteners with penetrating spray 
and hangers with silicone spray.  Remove 14mm locking 
nuts shown in Figure 3d, Item A from spring loaded 
studs on the rear flange of the catalyst pipe with a 
14mm socket and 3/8” drive 
ratchet. These are extremely 
tight. Realistically, you’ll 
probably end up unthreading the 
studs out of the weld nuts on 
the Factory CatPipe.

E.  Remove 2x 14mm Spring Loaded Hex Bolts shown in 
Figure 3d, Item B from the front flange connecting the 
Factory CatPipe to the Factory Downpipe. Set the springs 
aside as they will be reused.

F.  The Factory Catalyst Pipe is now tethered to the 
chassis only by the exhaust hanger bushings shown in 
Figure 3d, item C. Push the entire CatPipe to one side to 
gain as much reach on pushing one of the bushings off of 
the CatPipe. Press that bushing off of the hanger by 
hand as shown in Figure 3A (see video demonstration 
here:  http://www.youtube.com/watch?v=g3paszeT8H4    ) This is difficult, you have to 
really yard on these to get them off. If they feel like 
they are sticking to the hanger, spray more WD-40 or 
Silicone Spray. Once you get one of them off, the other 
slides off easily.  Remove the catalyst pipe from the vehicle.

    Be careful with the catalyst - it contains a ceramic honeycomb substrate inside 
which can be cracked if it is dropped.

4. Removal of the downpipe.
A.  Follow the O2 Sensor 
Harnesses and unplug both O2 
sensor connectors shown in 
Figure 4a from the main harness. 
The upper O2 sensor is a 2 plug 
style with one black and one grey 
connector. The lower O2 sensor 
is a single grey plug. Once the 
lower O2 sensor is unplugged 

remove it from the factory downpipe. Make sure the O2 wires are completely free 
before removing them from the vehicle.

B.  Remove the two 14mm headed bolts which hold the downpipe bracket to the 
engine. These two bolts are on the passenger upper side of the bracket, and 
connect be seen from below or above with the catalyst in the car. You can get a 
nearly straight connection on it with a long extension coming in from above and 
behind the transmission cross member.  Remove the bracket from the vehicle. 
Remove the factory downpipe out the bottom of the car. 

 ?

Figure 3c

Figure 3d

Penetrant
Silicone

A A

B B

C

Figure 4a



For help with installation, call 360-260-CORK (2675)

Installation Instructions:
Corksport Power Series Downpipe

2010+ Mazdaspeed3

T
R
O
P
S
K
R
O
C

4. Removal of the downpipe (continued).

C.  Check and make sure the stock turbo to downpipe gasket is in good shape. If 
it has damage or looks like it has been leaking replace it. Factory Part Number 
L3F2-13-490.

5. Installation of CorkSport Downpipe

A.   From the bottom of the car install the new 
CorkSport downpipe onto the studs of the turbo 
with the original or new gasket. Put some anti seize 
on the studs to make installation of the nuts 
easier. Once the downpipe is on the studs install 
one nut on the lower-forward stud shown in Figure 
5a. YOU MUST install this nut before tightening the 
rest or there will not be enough clearance between 
the downpipe and stud to insert the nut. Tighten to 
39-46 ft/lbs.

B.  Install the remaining four 14mm headed nuts and tighten in a criss cross 
pattern to 39-46 ft/lbs.

C.  Install supplied bolts and small flat washers (70mm for use with CorkSport 
Racepipe, 80mm for factory catalyst) through downpipe as shown in Figure 5c.

D.  Put small amount of anti seize on the 
threads of the O2 sensor. Install the 
lower O2 sensor into the downpipe.  
Reconnect the lower O2 sensor plug into 
the wiring harness.

E.  Put a small amount of Anti-Seize on 
the threads of the upper O2 Sensor and 
install it into the upper port on the 
downpipe.  Reroute the wire harness as 
shown in Figure 5e by connecting the 
wiring coil which was earlier removed from 

the factory downpipe into the available hole on the firewall.  Reconnect the O2 
sensor plug to the wiring harness.

6. Undercarriage button-up.

A.   Install the catalyst pipe onto the downpipe 
aligning the new downpipe gasket with the inlet of 
the catalyst pipe and attach the two exhaust 
hangers as shown in Figure 6a.  The first one is 
easy, the second one usually requires being pried 
into place with a square shank flathead 
screwdriver as shown. 

  

B.  Use the shorter 70mm long hex bolts if 
installing the factory catalyst pipe, and 
longer 80mm long hex bolts if installing an 
aftermarket race pipe as shown infigure 6c.

 

Figure 5e

Figure 5a

Figure 5c

Bolt Hole



For help with installation, call 360-260-CORK (2675)

Installation Instructions:
Corksport Power Series Downpipe

2010+ Mazdaspeed3

T
R
O
P
S
K
R
O
C

6. Undercarriage button-up (continued).

B.(Continued), tighten the nuts so there is approx a 1mm gap 
between the spring coils and install the second set of 
nuts over the bolts.  Tighten the primary and 
secondary nuts relative to each other to lock the 
setup.  

C.  Install the factory fasteners back into the rear 
flange of the Catalyst Pipe and tighten to 1mm spring 
gap.

D.  Reinstall the front chassis brace (4x 14mm Head 
Hex Bolts, 2x 14mm Nuts, 1x 10mm).  Torque the 14mm 
Bolts & Nuts to 22-28 Lb Ft.  Tighten the 10mm hand tight (~10 Lb Ft). 

E. Reinstall Center Chassis Brace (8x 12mm Bolts) and torque to 22-28 Lb Ft.   

7. Under Hood Button-up.

A.  Reinstall the lower and upper exhaust manifold heat shields using a small 
amount of anti-seize on the  Fasteners.  Torque them hand tight (10 foot pounds)  
It may smell a little as the initial amount burns off, but you’ll thank us if and 
when you ever need to take them out again. 

B.   Reinstall the intercooler into the hot and cold charge couplers and over 
the mounting studs.  Tighten coupler hose clamps and pull on intercooler to 
test tightness of fit.  If the Intercooler can pull out or move, it’s not tight 
enough.  Install 12mm nuts over studs and tighten to ~20 Ft Lb of torque. 

C.  Install recirculation valve hose and reinstall hose clamp.  Install 
recirculation vaccum line and reinstall hose clamp.

D.  Install Intercooler cover,   ensuring that the clasp in the back is firmly
latched over the feature on the inercooler and reinstall two 10mm Hex Head 
bolts.  Tighten to hand tight.      DO NOT OVERTIGHTEN.

 
8. Test run & Leak Check

A.   Bring the car down off the jackstands and start the car.  Use a flashlight 
to check under the car to ensure that no visible exhaust is leaking and listen 
for leaks (usually a whispering tick sound at the flange.  Look at the two 
connections that you made under the vehicle and also at the turbocharger.  If 
there are leaks, 99% of the time a flange has been overtightened or is 
misaligned.  

 ?

Figure 6b


	Axl-6-113 Packing List
	Blank
	Axe-6-113 Installation Instructions, Sht1
	Blank
	AXL-6-113 Install Checklist 1
	AXL-6-113 Install Checklist 2
	Axl-6-113, Sht 2
	Axl-6-113, Sht 3
	Axl-6-113, Sht 4
	Axl-6-113, Sht 5
	Axl-6-113, Sht 6

